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HIEES Al W5 KR 1.201]ha ha |WBC KR 1.201]ha ha EZhA-%H
ok A2 WES 0.480|ha ha [WEZ 0.480|ha ha B
e A3 S=FYR-KFE|  1.145|ha ha [S=F<k-KFE| 1.145|ha ha EZHA
B A4 TRlE 23.857|ha ha |T&fE 23.857|ha ha TEa-BA BE- LA EEE- SR P
HE A5 Wb KR 0.610|ha ha |LWBC- KT 0.900|ha ha =8
e A6 KTR 1.362|ha ha |/K7& 10.000|ha ha =EH48-EB-EBA
e A7 KFE At 19.960|ha ha |/Kf@ 1B 19.960|ha ha ZEA-BEA-ZH-LA-£8
= AS ==r<k 0.973|ha ha |S=F<F 0.973]ha ha ZHa-FR
HE A9 S=r<k 0.366]ha ha |S=FRF 0.366]ha ha =8
HIEES A10 SEEE =17 0.301|ha ha |[FL3x%aH 0.301|ha ha EES
PE All Wb KR 1.342|ha ha |LWBC- KT 1.342|ha ha =8
FEES B1 Wb 1.139]ha ha [LVBT 1.200]|ha ha EI%
FIFHE B2 W52 1.395|ha ha |[LW&Z 1.395|ha ha REi%-ZH
FEES B3 Wb 0.978]ha ha [LWBT 0.978]ha ha EI%
Ak B4 [y 0.386|ha ha |[LW&Z 0.386|ha ha Ri&
2B B5 nEC 3.033|ha ha |WBC 3.033|ha ha EI&E-[RK
HE C2 W5 0.374|ha ha |[LWBZ 0.374|ha ha EEN
B C3 NEC 0.410|ha ha |WBC 0.410|ha ha EEN
FEES C4 nEC 0.345|ha ha [WBC 0.345|ha ha [EEN
B C5 NEC 0.594|ha ha |WBC 7.000|ha ha EEN
HE C6 ~=k 0.508|ha ha |FF 0.600|ha ha [EES
FEES C7 Wb 0.432]ha ha [LVBT 0.432]ha ha B
FEE C9 NEC 0.274|ha ha |[WBC 0.274|ha ha [EEN
FEES C10 W52 0.409]ha ha [LWBT 0.409]ha ha B
FEES C13 NEC 0.483|ha ha |[WBC 0.483|ha ha EEN
STL C14 N5 0.409]ha ha |LWBZ 0.409]ha ha EEN
=BTk C15 ST 0.303|ha ha |S=F<F 0.303|ha ha EXR
B C16 KR 0.334|ha ha |k 0.334|ha ha EEN
Ak Ci7 IKFE 1.516]|ha ha |/K%& 1.516]ha ha BEA
B C18 S=kvk 0.952|ha ha |3=FRF 1.500|ha ha BEA-iE-
FEE C19 KFR 14.560|ha ha |/K7& 14.560|ha ha [RAR-ZH-ILA-OEAT
HIEES C20 S=Rvh 0.646|ha ha |3=FRF 0.646|ha ha EEN
FIFHE D2 W52 0.389]ha ha |[LW&Z 0.389]ha ha %H
STL D3 N5 0.469]ha ha |LWBC 0.469]ha ha %ZH
HE D4 r=k 0.971|ha ha |FF 0.971]ha ha £ZH
B D5 MRBHE-fE| 0909|ha ha |EREHE-Fafk| 1.160]ha ha B
FIFHE D6 [y 1.346|ha ha |[LW&Z 1.346|ha ha %H
e D7 W5 KT 0.375|ha ha |\ K7E 0.580|ha ha %ZH
HE D9 Wb KR 1.049|ha ha |LWBC- KT 1.049]ha ha ZH
e D10 W5 KT 0.812]ha ha |\ K7E 1.150|ha ha %ZH
HE D11 Wb KR 0.658|ha ha |\WBC- KT 2.000|ha ha ZH
e D12 W5 KT 1.186|ha ha |\ K7E 1.186|ha ha %ZH
=BTk D14 NEC 0.687|ha ha |[WBC 0.687|ha ha £ZH
FRE D16 S=k<k 0.545|ha ha |[S=FF 0.545|ha ha FR-ZH
=BTk D17 NEC 0.440|ha ha [\WBC 0.440|ha ha £ZH
STL D18 N5 0.307|ha ha |LWBZ 0.307|ha ha %ZH
HE D19 NEC 0.658|ha ha |[LWBZ 0.658|ha ha ZH
FES D20 W52 0.319]ha ha [LWBT 0.319]ha ha %A
B D21 S=r<k 0.723|ha ha |S=F<F 0.723]ha ha ZH
FES D23 W52 0.388]ha ha [LWBT 0.388]ha ha %ZH
=BTk D24 NEC 0.321|ha ha |[WBC 0.321|ha ha £ZH
STL D25 N5 0.456|ha ha |LWBZ 0.456|ha ha %H
=BTk D26 nEC 0.324|ha ha [WBC 0.324|ha ha £ZH
FES E1 Wb 0.145|ha ha [LVBT 0.145|ha ha X
HE E2 Wb KR 1.106/ha ha |LWBC- KT 1.106/ha ha IIES
e E3 NEC 1.094]ha ha |WBC 1.100|ha ha X
HE E4 Wb KR 0.691|ha ha |L\WBC-KTE 0.691|ha ha IIES
B E6 W5 KR 0.841|ha ha |\WBC-KiE 0.841|ha ha A
FHEES E7 Wb kiR &t 1.164|ha ha [Ws2-kiE-&|  1.164|ha ha LR
FEES E8 Wb 0.522|ha ha [LWBT 0.522|ha ha X
22 E9 NEC 0.564|ha ha |WBC 0.564|ha ha ITES
HEES E10 EEISETS 0.450|ha ha |3=FRF 0.500|ha ha A28
bR E11 S=RYh 0.455|ha ha |S=F<k 0.455|ha ha IS
STL E12 N5 0.304|ha ha |LWBC 0.304|ha ha A
=BTk E13 nEC 0.377|ha ha |[LWBZ 0.377|ha ha IIES
STk E14 S=RYk 0.366|ha ha |[S=FXF 0.366|ha ha A
=BTk E15 nEC 0.323|ha ha |[LWBZ 0.323|ha ha IIES
HIEES E16 TRlE 3.339|ha ha |[TfF 3.339]ha ha A-HEAT-FR-KWF
FEES E17 NEC 0.246|ha ha |[WBC 0.251|ha ha IS
B G2 W5 KT 0.631]ha ha |\ K7E 0.631]ha ha PEY=L:)
FEES G3 w52 0.938|ha ha [LW&T 0.938|ha ha o B By
B G4 S 0.875|ha ha |[FXF 0.875|ha ha Pa H BT
A2 G5 WEC 0.450|ha ha [LBC 0.450|ha ha 74 B T
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FIHA H2 TRk 2.338]ha ha |F&fE 2.338]ha ha FR-FE-F
B H3 EEISETS 0.702]ha ha |[S=FF 0.702]ha ha FR

HE H4 Wb KR 2.143|ha ha |LWBC-KTE 2.143|ha ha HiEEFR
= H5 nBo 0.752|ha ha |WBC 0.752|ha ha EiE-FR
ElEES H6 KFR 1.530]ha ha |k 1.530]ha ha FRK
S H7 Wb 1.530|ha ha |LW6T 1.530|ha ha FR
FIRZ HS R -Yed 0.943|ha ha |LBC 0.943]ha ha FRK

STL H9 N5 0.374|ha ha |LWBC 0.374|ha ha EE3

A= H10 WEC 0.545|ha ha [WBC 0.987|ha ha g

B Hi1 EEISETS 0.306|ha ha |3=FRF 0.306|ha ha FR

A= H12 =<k 0.239ha ha |S=F<F 0.239|ha ha FR

e H13 RS 0.966|ha ha |LWBZ 0.966]ha ha FR-PE
HE Hi4 S=r<k 0.451|ha ha |S=FRF 0.451|ha ha R

B H15 EEISETS 0.438]ha ha |3=FRF 0.438]ha ha FR

HE H16 S=r<k 0.542|ha ha |S=FRF 0.542|ha ha R

B H17 EEISETS 0.410]ha ha |[S=FF 0.410[ha ha FR-p
HE H18 S=r<k 0.458|ha ha |S=FRF 0.458]ha ha R

B H19 NEC 1.134]ha ha |WBC 1.134]ha ha FR

HE H20 W5 0.439|ha ha [WBC 0.439|ha ha R
EHEES H21 TRlE 0.650|ha ha [TfF 0.650|ha ha FR-h{g
22 H22 =<k 0.372|ha ha |S=F<F 0.372|ha ha FR
FIEZ H23 ===k 0.787|ha ha |S=F<F 0.787|ha ha F-FR-AE
FIRE H24 S=F<F 0.371|ha ha |S=F<k 0.371]ha ha FRK
B H26 WEC 0.430|ha ha [WEC 0.430]ha ha FR
FIRE H27 S=F<F 0.314]ha ha |S=F<k 0.314]ha ha FRK

STL H28 S=RRk 0.305|ha ha [S=F<F 0.305|ha ha EE3

=BTk H29 W5 0.480|ha ha |[WBC 0.480|ha ha R

B H30 EEISCTS 0.200|ha ha |3=FRF 0.270|ha ha FR
FIRE H31 S=F<F 0.305/ha ha |S=F<k 0.305/ha ha FR
FIRE H32 S=F<F 0.307|ha ha |S=—F<k 0.307|ha ha FR

=BT H34 S=RYh 0.203]ha ha |S=F<k 0.270]ha ha FR

STL H35 N5 0.186]ha ha |LWBZ 0.245|ha ha FX
FEES 12 S=r<k 0.199|ha ha |S=FRF 0.199]ha ha i
HIEES 121 NEC 0.642|ha ha |WBC 0.642|ha ha g
FEES 123 W5 0.437|ha ha |[WBC 0.437|ha ha i
HIEES J1 EEISETS 0.671|ha ha |[S=FF 0.671|ha ha HiE

HE J6 NEC 0.828]ha ha |LBC 0.828|ha ha g

e J7 W5 KT 1.047|ha ha LB K 1.190|ha ha g

HE J3 Wb KR 0.844|ha ha |LWBC- KT 0.844|ha ha g

B J9 EEISCTS 0.379]ha ha |[S=FF 0.600|ha ha g

A= J10 WEC 0.858|ha ha [WBC 0.858]ha ha g

STL J11 S=RRk 1.122|ha ha |3=FRF 1.122|ha ha S

=BTk J12 ST 0.325|ha ha |S=F<F 0.325|ha ha g
FEES J13 S=RTh 0.252]ha ha [E=k=h 0.252|ha ha [
G J14 S=r<k 0.314|ha ha |S=F<F 0.314]ha ha g
FEES J15 S=RTh 0.363]ha ha [E=k=h 0.363]ha ha B

PE J16 S=r<k 0.533|ha ha |S=F<F 0.533]ha ha g
HIEES Ji7 EEISETS 0.305|ha ha |3=FRF 0.305|ha ha HiE

PE J18 S=r<k 0.476|ha ha |S=F<F 0.476|ha ha EiE- 5
HEES J19 EEISETS 0.211]ha ha |3=FRF 0.211]ha ha HiE
FIH J20 S=r<k 0.430|ha ha |S=F<F 0.430|ha ha g

B J21 EEISETS 0.460|ha ha |3=FRF 0.285]ha ha e

=BTk J22 W5 0.437|ha ha |[WBC 0.437|ha ha g
FES J23 S=RTh 0.135|ha ha [E=k=h 0.230]ha ha B
EEES J24 ST 0.253|ha ha [S=FF 0.253]ha ha g

e J25 EEISETS 0.387|ha ha |3=FRF 0.387|ha ha HiE
EEES J26 ST 0.302|ha ha [S=FF 0.302]ha ha g
FES J29 W52 0.322]ha ha [LWbT 0.322]ha ha EiE-AF
FIFHE K1 L5 kAR 0.210]ha ha |WBZ-KEg 0.500|ha ha ks
HIEES K2 WEC 1.167|ha ha |WBC 1.167|ha ha A
RS K3 S=kvh 0.204|ha ha |[S=F<F 0.204|ha ha L

e K4 EEISETS 0.402|ha ha |[S=FF 0.402|ha ha RA-f
FIRE K5 S=kvk 0.311]ha ha |[S=F<F 0.311|ha ha A
B K7 WEC 0.686|ha ha |WBC 0.686|ha ha A

HE K10 S=r<k 0.357|ha ha |S=F<F 0.357|ha ha 2L

B K11 S=rwk 0.200|ha ha |3=FRF 0.263]ha ha RA-f
HE N2 S=r<k 0.400|ha ha |S=FRF 0.400|ha ha th

e N3 EEISETS 0.216]ha ha |[S=FF 0.216]ha ha B
FIRE N4 S=kvk 0.235]ha ha |[S=F<F 0.235]ha ha &
HIEES N6 TRlE 0.968|ha ha |[TfF 0.968|ha ha h

e N9 S=r<k 0.320|ha ha |S=FRF 0.320|ha ha th
HIEES N10 EEISCTS 0.207|ha ha |[S=FF 0.207|ha ha B
FIRAE N11 F=ISdN 0.345|ha ha |E=kTk 0.345|ha ha =
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FEES N12 H=ISdN 0.233|ha ha |E=kTk 0.233|ha ha =
HIEES N13 EEISETS 0.335|ha ha |[S=FF 0.335|ha ha B
RS N15 S=kvh 0.513]ha ha |[S=F<F 0.513]ha ha &
B N16 EEISCTS 0.641]ha ha |3=FRF 0.641]ha ha B
HE N17 S=r<k 0.204|ha ha [S=h=h 0.204|ha ha th
B N18 EEISCTS 0.184]ha ha |3=FRF 0.184]ha ha B
FIRE N19 S=kvk 0.608]ha ha |[S=F<F 0.608]ha ha &
HIEES N21 WEC 0.381]ha ha |WBC 0.381]ha ha th
B 15482 B 152.299|ha 0 Jha 171.806|ha 0 Jha




